READING Chapter 1 Part1
                  You are going to read an article. Choose the suitable heading from the list A-G for   

                  each part (1-6) of the article. There is one of heading which you don’t need to use. 

                  There is an example at the beginning.

A.  Strength is generally quiet, weakness often is not. 

B.  The first great success 

C.  Percy’s victory. 

D.  An imaginative person 

E.  The trouble in the family.

F.   Let  sleeping dog lie (The  great tragedy )

G.  A partner with the same ideas.

____D____

Percy Bysshe Shelley was born in 1792. Percy was the oldest child in his family.

His father was rich and owned a lot of land. His father liked hunting and fishing. Percy was different from his father. He was a dreamer. To these brothers and sisters Percy was a hero. Everything he did was perfect. From morning till night he told them wonderful stories. For example, he had a story about a very old man who lives secretly in the house. Percy half believed in stories he told. 

_________

When Percy was 12, his parents sent him to Eton, a very famous school. There the big boys often cruel to the little boys. Shelley was very unhappy there. There were many reasons for this.

Firstly, he looked as beautiful as any girl. But a real problem was something else. From the very first day Shelley refused to be an older boy’s servant. The older boys were very angry. Every called him ‘Mad Shelley’ and punished.

_________

In the year 1810 Shelley’s parents sent him to Oxford University. He was 18 years old. Here he could study, read and write as much as he wanted. He was free. On Shelley’s first day at Oxford he met a young man, called Thomas Hogg. Soon they began to discuss poetry.  They talked for hours and became very good fiends.  They read a lot on .all the subjects. Both young men were very interested in politics and their ideas were very radical.

________

Together the two young men wrote a book of poetry and published it. Often the poems were about the need of political change in England. Everyone in the university read their book and discussed it. 

________

Harriet Grove, his cousin, read there book. He didn’t understand his ideas ay all. Shelly wrote long letters to Harriet. In this letters he explained his ideas. Harriet showed his letters to his father. He was shocked by his son’s ideas. Father and son couldn’t understand each other.

______

So the two men wrote another book together. In this book they said that God did not exist.

Shelley published it and sent to all the bookstores. 

A few days later Shelley received a letter prom the Head of College. 

So… after only 6 months, Shelley with his   friend Hogg, had to leave the place they loved most of all. 
Chapter 1  Part 1 Read the text below. Choose the suitable heading from the list

                  A-F for each part (1-5) of the story. There is one heading which you do

                  not need to use.
A. The great proposal

B. Percy didn’t want to submit to anybody

C. Bright imagination is a way to funny life

D. All kings are fools, poor people are good!

E. Like a bird in the golden cage

F. Sometimes sons have different characters from their fathers
1.___ Percy Shelley was born in 1972. His family owned a lot of land. Percy’s father, Timothy Shelley, wanted his son to be like him. On the contrary, Percy was very different from him.

2.___ Percy was a dreamer. He liked to make stories filled with magic. His sisters and a brother were amazed by the beautiful fairy-tales told by Percy.

3.___ Young Percy liked reading books, so that his own picture of the world began to form. He considered that all kings, queens and the rich were the bad people.

4.___ Percy had long conversations with his sister and cousin. He tried to explain them that freedom is good for women… and that marriage is a prison.

5.___ Unhappily, in school Percy was quite sad. He had a very rebellious character and didn’t want to be the elder boys’ servant.

Chapter 1 Part 2. You are going to read the first chapter. For questions 1-5 choose the best 

                               answer (a, b, c, d) which you think fits best according to the text.

1. Percy Shelley was perfect for:

a) his family

b) his friend

c) girls

d) his brothers and sisters 

2. Why was Percy unhappy at Eton school? Because he :

a) wasn’t allowed to read books

b) was looking like as any girl

c) was called ‘Mad Shelley’

d) hadn’t any friends there

3. Shelley didn’t know such languages as :

a) French

b) Italian

c) German

d) Spanish

4. What did he want England to be?

a) change it political view

b) there should be no kings or queens

c) he didn’t want to be an aristocrat

d) there should be no poor people

5. How long did he studied at university?

a) year

b) all time

c) half of a year

d) three months 
Chapter 1 Part 2 After reading the first chapter of the book, choose the right

                  answer (A, B, C or D) for questions 1-5, which you think fits best

                  according to the text.
1  Percy told his sisters and a brother wonderful stories because

    A  he was little

    B  he had bright imagination

    C  he wanted to have a fun of them

    D  he didn’t like his real childhood

2 The children confessed that they could hear old Cornelius snoring because

    A  they thought everything Percy did was perfect

    B  their father was always snoring

    C  all of them liked telling lie

    D  they didn’t want to upset Shelley

3 Percy liked to read

    A  aristocratic magazines

    B  his own stories

    C  the Bible

    D  books on history and religion

4 Boys at Eton school hated Shelley because

    A  he was much cleverer than they were

    B   he wrote strange novels

    C   he thought that marriage was like a prison

    D   He refused to be an elder boy’s servant

5 Shelley’s political ideas were very radical so that

    A he didn’t believe in God

    B he wanted to live in a Republic

    C he wanted to be a poor man

    D he left the cruel Eton school

Chapter 2. Part 2. You are going to read an article. For questions 1-5 choose the best answer (a, 
                                 b, c, d) which you think fits best according to the text.

  The two young men travelled to London and found a room there. They had very little money. It      was their fathers who gave them their money and their fathers were angry indeed when they     heard the news. Timothy Shelley wrote a letter to his son. In it was said that he did not have to    see Hogg and he must study the teachers he choose for him. But Shelley’s answer was short. He refused doing those things. Timothy didn’t want to lose his son. He decided to do to London and take both friends out for dinner. He left sure he could change Percy’s mind. The three men met at Miller’s Hotel. The food was excellent, the wine was good. While Shelley was out or the room Timothy asked Hogg for advice. He answered immediately that Percy needed a woman to love. Timothy was delighted. He came back home. Shelley was left alone in London. He had no money, no friends and no work, because Hogg went home to his family. He agreed to study to be a lawyer.

Once he met the girl he liked most. Her name was Harriet Westbrook. She was only sixteen. She was small and charming and very pretty. Her father owned a coffee-house. He was pleased that a young nobleman was visiting his daughter. He encouraged them to spend time together. They fell deeply in love. One day Harriet’s father wanted to send her back to school. Shelley was very frightened. He decided to write a letter to her father. He was very angry. Percy was horrified. He promised to marry Harriet. And they started their journey to Edinburgh, the capital of Scotland.

1. When boys’ fathers heard the news they were:

a) happy

b) depressed

c) angry indeed

d) destroyed

2. How did Shelley answer to his father’s letter?

a) he agreed

b) he wasn’t glad, but didn’t refused

c) he decided never to do those things

d) he didn’t answer

3. What sort of help did Timothy Shelley expect of Hogg? He helped him:

a) to get his son to London

b) to change Percy’s mind

c) to pay for dinner

d) to convince Shelley to come back home

4. What does ‘he’ in line 12 mean?

a) hotel

b) Timothy

c) Hogg

d) Percy

5. Harriet’s father wanted :

a)  to send her back to school

b)  her daughter to be rich

c)  to see Shelley
d)  Shelley and Harriet get married
Chapter 3 Part 1 Read the text below. Choose the suitable heading from the list

                  A-F for each part (1-5) of the story. There is one heading which you do

                  not need to use.
1.___ Shelley and 

A. The new town, the new experience

B. Percy’s disappointment

C. Friendship with a new poet

D. There are still good people in the world

E. The beauty of poetry

F. Working on the “Irish problem”

Harriet arrived in Edinburgh penniless, but with strong intention to get married. They told their story to a kind landlord. Luckily, the man agreed to lend them money and rooms.

2.___ The young couple had a wonderful time, exploring Edinburgh together. They were very pleased.

3.___ Some time later, Shelley went to visit the famous poet Southey. Southey didn’t seem very special, he was quite ordinary… Either was his wife.

4.___ Percy read a book called Political Justice written by Godwin. He was quite impressed. The two writers began to exchange letters with each other regularly.

5.___ Later Harriet and Shelley decided to go to Ireland for teaching people. “The rich must give to the poor”, considered Percy.

Chapter 4 Part 1You are going to read an article. Choose the most suitable heading from  the 

                         list A-I for each part (1-7) of the article. There is one extra heading which you 

                         do not to use. There is an example at the beginning (0).

A     An exiting acquaintance                                          E     A big winnings                      

B     A long journey
                                               F     Travelling to Geneva

C     Improvement in situation                                         G     Return to London 

D     Journey in France                                                   H     A misfortune 

                                                                                        I      Problems with money

	   0


	
	                 B


                       from his account. They went to see Harriet.

                       Eventually, Harriet agreed to give Shelley 

                       A few pounds and he rented some rooms in                                                                                          

On 28 July, at four o’clock in the morning,                       a cheap part of London. But the three young   

Mary and Jane left their home. They                                people were in trouble. Very few of their old  


travelled with Shelley to Dover, on the coast.                  friends wanted to see them any more. And 

The journey was very long. They were all                        Godwin was extremely angry. He would not                       

very tired when they reached Dover at four                     allow them to enter his house any more. 

o’clock in the afternoon. There, they found a 
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small boat to take them to Calais. The sea 

was very rough but they arrived in Calais 

safely. They stayed at a small hotel.                                 

                                                                                          Then in January 1815, their money problems                              

	  1


	
	


                     ended. Grandfather, Sir Bysshe Shelley died,

                     aged eighty-three. Shelley was sad. But he  
                                                                                          knew that Sir Percy had left some money in his            

They had very little money. Shelley sold his 
                  will.

watch. Now they had enough bread and  
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cheese for two weeks. Happy, they stayed                       

in Paris and began to explore it. Then they

met a friend who lent them sixty pounds.

They decided to walk to Switzerland. Shelley                   During this time Mary became pregnant. Her 

came home one day with a small donkey.                        baby was born early on 22 February. But it was

                                                                                          ill and doctors were worried about it. Mary and 
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Shelley watched their baby night and day. The  


baby started to grow. It seemed well. Two weeks 
                                                                                          later Mary woke to find her baby dead. It was 

They started on their journey. The year was                     only one month old. Mary was heartbroken. She 

1814 and the roads were not safe. People                       and Shelley decided to move to the country and 

were astonished to see the little trio. There
                       try to forget their sadness.      

were two beautifully-dressed English girls,
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a very tall young man and a donkey! It was
      

just after the war in France. Many villages 

were destroyed. There were lots of thieves

in the countryside. It was not a safe place                        In August of that year, Shelley, Mary and Claire 

to be. The three young people stayed in small                 travelled to Geneva. As they had planned, they 

hotels. The beds were dirty.
                                              stayed in the hotel d’Angleterre, a beautiful hotel

                                                                                          by a lake. From the hotel you could see the
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mountains. Often the three of them took a boat  


out on the lake.
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They arrived back in London with no money                     

for their taxi. Shelley went to his bank. They 

told him that his wife had taken all the money 

                                                                                         Lord Byron came to the hotel only ten days after 

                                                                                         Shelleys. The two young poets liked each other 

                                                                   immediately. They were similar in many ways. 

                                                                     They were both aristocrats. They had the same 
                                                              political opinions. Both read an enormous 

                                                                               number of books and were highly intelligent.

                                                                                        Lord Byron was only four years older than Shelley.
                                                                          He was famous all over the Europe for his poetry.
Chapter 5  Part 1
                  You are going to read an article. Choose the suitable heading from the list A-G for                          

                  each part (1-6) of the article. There is one of heading which you don’t need to use.  

                  There is an example at the beginning
A.  An abortive masterpiece.
B.  Mary’s Wollstonecraft daughter.

C.  One more unexpected death.
D.  He decided to go to England.
E.  Mary’s novel.

F.  Shelley’s family life.

G.  Fanny’s death.
____B ____
In August 1816 the Shelleys and Claire returned to England. Fanny Imlay, who lived with the Godwins, was the daughter of Mary Wollstonecraft and her first husband. She was very lonely because her half-sisters Mary and Claire were gone.
_________

Soon after the Shelleys return to London they saw her. She was sorrowful, suppressed and could talk for a long time about her sadness. After a few days Fanny killed herself because of althel-nonneciprocal love of Shelley. Percy couldn’t understand the veritable reason of destruction Fanny and consequently her sudden death was for him quite unexpectedly.
_________

Then in December Shelley received even more terrible news. Harriet had drowned herself in the river of a London park. Shelley was horrified and it took him many years to recover from the shock.
________

After Godwin heard the news about sad events he wanted Shelley to marry his daughter immediately. Percy agreed and two weeks later he and Mary were married. Godwin was very happy because his daughter was now married to an aristocrat. By this time Mary had another child, a little girl called Clara. Shelley and Mary had two children-William and Clara-and Claire lived in the house.
________

Autumn came and Shelley’s health wasn’t good. Some of the poems were published in 1818 and “The Revolt of Islam” was one of them. As many poems it was political. Very few people liked these new poems.
______
Shelley, Mary and Claire, decided to go and live in Italy. On their first came to London Mary’s novel “Frankenstein” was published. Everyone was reading it. Shelley was very glad to Mary. But not looking on anything Shelley wanted to leave England and to move to Italy.
Chapter 6 Part 2 You are going to read an article.  For questions 1-8, choose the answer (A, B,     

                                            C or D)  which you think fits best according to the text. 

  In March 1818, the Shelleys family left for Italy. They traveled for a few months and then found a house 

Near Livorno, in northern Italy.

  Shelley spent a lot of time outdoors, swimming, walking and writing. He loved the Italian countryside. Both he and Mary were busily writing.

  In August of that year Shelley went to see Byron. They talked about the problems of the world. They were very different. Shelley wanted to change things. Byron did not believe it was possible. But these two extraordinary men felt comfortable with each other.

  Byron had a villa and invited Shelley, Mary and Claire to stay there for the summer. 

  Mary started her journey to Venice. The journey was slow and difficult and her baby Clara became very ill. For fourteen days she had a high temperature. Shelley came to meet them and realized how ill Clara was. He left immediately to fetch a doctor. But when the doctor came, he said there was no hope. This was the second child Mary had lost. 

 They stayed at Byron’s villa for the summer. During that time Shelley wrote another long poem, “Julian 

and Maddalo”. This poem was a dialogue between two men, Julian and Maddalo. In fact, “Julian” was based on Shelley and “Maddalo” was based on Byron. 

  But the Shelleys could not forget Clara. At the end of October they travelled south to Rome. They stayed 

there for the winter. Then in March they returned to Rome. Here they started to enjoy life again. Shelley and Mary where astonished and exited by the beauty of Rome. Shelley started writing one of his greatest poems. It was called “Prometheus Unbound”. In this poem he wrote about the victory of the human spirit 

over tyranny. It was a very long poem but Shelley wrote it at great speed. He finished it in April.

  In August 1819 Shelley wrote “Ode to the West wind”. This is probably his most famous poem of enormous power and life. Shelley wrote the poem in only one day.

  In August of that year Mary became pregnant again. This gave her some hope for the future. The Shelleys moved to Florence for the birth of their child. They wanted to find a good doctor there. Once in Florence Mary began to feel more herself. It was impossible to be unhappy in Florence. Here, there was some of the finest art in the world. And people were interesting, intelligent.

  The baby was born with very little pain on 12 November1819. They called him Percy Florence. 

1     The Shelleys found a house                          5     During Shelleys staying at Byron’s villa
                                                                                        Shelley wrote

A    in England                                                         A    Ode to the West wind    
B    very old                                                              B    Julian and Maddalo
C    where were bad neighbours                              C    Prometheus Unbound
D    near Livorno                                                       D    The Cenci 
2     Byron and Shelley were                                  6     For the first time the Shelleys stayed at Rome                  

A    brothers                                                               A    for a week

B    enemies                                                               B     two days 

C    very different                                                        C    one year

D    similar                                                                  D    three months

3     Byron invited Shelley, Mary and Claire          7     What did there mean in line 46?

A    to his house                                                        A    Rome

B    to his villa                                                            B    Neple 

C    to his family                                                         C    Venice

D    to the dinner                                                        D    Baron’s villa

4     What happened with Clara?                             8     What occurrence gave Mary hope for the 

                                                                                           future?  

A    she had her Birthday                                           A    she got married  

B    she had a sister                                                   B    writing a new book 

C    she died                                                               C    being pregnant  

D    she and her mother traveled to Italy                    D    getting inheritance 
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